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EATH 65 & 99 9 RBZTH 3% 10
EATH 66 & 12 129 vrIvT4—TH 1 %214
EATH 67 & 12 128 1| 753 54—TH 1 %212
EATH 68 & 12 127 vrIvT4—TH 1 %211
ER_TH 69 & 50 6 R—TH 25 % 8
EATH 70 & 12 126 vrIvT4—TH 1 % 210
28 " TH 71 & 12 125 vrIvT4—TH 1 % 209
A" TH 72 % 17 6 75 74T A 9&T
EAZTH 73 % 1 94 9 WZTH 11 %9
EAZTH 73 %3 94 10 WZTH 11 % 10
EATTH 74 % 1 54 8 v77y 74— T H 278 X
ER&_TH 78 % 1 12 153 vrIv74—TH 1 7% 145
EATTH 79 F 1 17 5 v7I7v 74T H 9% 6 X
EATTH 79 % 2 17 5 v7I7v 74T H 9% 6 X
EA/TTH 80 & 17 7 v¥77v 74 TH 9 %8 53l
EATTH 80 & 15 13 v7I7v 74 TH 126 53l
ZA_TH 81 & 15 14 ETIvT4 TR 12 % 7
ER&_TH 82 & 12 124 vrIv74—TH 1 % 208
ZRAZTH 83 & 50 5 R—TH 25 &7
E&_TH 84 & 12 123 v7rIv74—TH 1 % 207
E&_TH 85 & 12 122 1| v7rsv54—TH 1 7% 202
E&_TH 86 & 12 122 2| ¥75v54—TH 1 7% 203
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EA-TH 87 & 12 122 3| 795 4—TH 1 & 204
ER-TH 88 % 1 52 10 E75 54 TH 7% 10
EA_-TH 88 % 2 105 5 W®=TH 9 %5
ER-TH 89 % 1 12 121 1| 79 54—TH 1 & 200
EZA_TH 89 % 2 12 121 2| ¥7Iv54—TH 1 % 201
EZA_TH 90 & 12 40 2| ¥7Iv54—TH 1 & 71
EZA_TH 91 & 26 5 R—TH 5%9
EZA_TH 92 & 26 4 R—TH 5% 8
ZATH 93 & 12 122 4| ©7rIv74—TH 1 % 205
ZATH 94 % 1 54 8 v7ov74—TH 2 %8 & hf
ZA_TH 94 3% 2 56 15 ®OTH 16 % 20
ZA_TH 95 % 1 49 5 R—TH 14 % 10
ZA_TH 95 % 2 49 15 R—TH 14 % 11
ZA-TH 95 % 3 49 16 R—TH 14 % 12
EAZTH 96 % 1 100 7 RZ=TH 2 %8 & Pf
EAZTH 96 % 2 100 7 RZ=TH 2 %8 & Pf
ERTTH 97 & 1 60 1 ROTH 33%F 1 A
ERTH 97 % 2 60 1 ROTH 33 % 1 At
ERTH 98 & 44 11 R—TH 15 % 15
ERTH 99 & 36 9 R—TH 21 % 12
ERTH 100 & 1 44 9 R—TH 15 %12 | A6
ERTH 100 % 2 44 9 R—TH 15 %12 | A6
EATH 101 %& 12 120 vT7rIvT4—TH 1 % 199
ER-TH 102 & 1 44 8 R—TH 15 & 11
EATH 102 7% 2 44 12 R—TH 15 & 21
EATH 103 % 1 44 13 R—TH 15 % 23
EATH 103 7% 2 44 18 R—TH 15 & 22
EATH 104 & 44 7 R—TH 15 % 10
EATH 105 % 1 44 24 R—TH 15 & 17
EATH 105 & 2 44 6 R—TH 15 %8
EATH 105 & 3 44 22 R—TH 15 %9
EATH 105 7% 4 44 23 R—TH 15 % 16
ZA " TH 106 % 1 49 8 R—TH 14 % 16
SH_TH 106 & 2 67 1 W_TH 26 % 1
EATH 106 % 3 67 14 RTTH 26 % 2
EATH 106 % 4 67 15 RTTH 26 % 3
EAZTH 107 & 79 12 WZTH 14 %5
ER&_TH 108 % 12 119 1| v7rsv54—TH 1% 197
ER_TH 109 % 12 119 2| 75 54—TH 1% 198
EATH 110 & 50 7 R—TH 25 % 9
ER&_TH 111 % 12 118 1| v7rsv54—TH 1% 194
ER_TH 112 % 1 12 118 2| 75 54—TH 1 7% 195
EATTH 112 % 2 54 13 vrIv74—TH 2% 13
ER&_TH 113 % 12 54 1| v7rsv54—TH 1% 97
E&_TH 114 % 1 12 117 1| v7rsv54—TH 1% 191
E&_TH 114 % 2 12 117 2| ¥75v54—TH 1% 192
E&_TH 115 %& 12 117 3| 755 4—TH 1 7% 193
EATH 116 & 44 5 R—TH 15 &7
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EZA_-TH 117 & 12 116 v7ov 74— T H 1 % 190
EA_-TH 118 & 12 115 v7ov 74— T H 1 % 189
EA_-TH 119 %& 60 2 ®OTH 33 &2
EA_-TH 120 & 12 114 v7ov 74— T H 1 % 188
EZA_TH 121 % 1 54 7 v7ov74—TH 2 &7 A
EZA_TH 121 & 2 54 7 v¥7ov74—TH 2 &7 A
EZA_TH 122 %& 54 6 v¥7ov74—TH 2 %6
EZA_TH 123 %& 100 3 RZ=TH 2 %4
ZATH 124 #& 54 5 v7ov74—TH 2%&5
ZATH 125 %& 12 113 v7ov74—TH 1 % 187
ER_TH 126 & 1 71 1 R_TH 23 % 1 Gox
ER_TH 126 & 1 57 9 R_TH 36 & 10 | HE
ZA_TH 126 & 2 12 112 v¥7ov74—TH 1 % 186
ZA-TH 127 %& 12 118 3| ¥7Iv54—TH 1 % 196
EATH 128 & 12 111 vT7rIvT4—TH 1 % 185
ER_TH 129 & 1 57 4 ROTH 36 & 4
EAZTH 129 & 2 57 10 WZTH 36 & 11 | APk
EAZTH 129 & 3 57 15 WZTH 36 &5 A5
EAZTH 129 % 4 57 15 WZTH 36 &5 A5
EAZTH 129 & 5 57 10 WZTH 36 & 11 | A8k
EAZTH 129 % 6 57 14 WZTH 36 &F12 | ABF
EAZTH 129 & 7 57 14 WZTH 36 & 12 | AP
EAZTH 129 % 8 57 15 WZTH 36 &5 A6
EATH 130 & 54 9 vT7rIvTr4—TH 2%9
EAZTH 131 & 12 110 vrIvT4—TH 1 % 184
EB_TH 132 % 12 53 1| ©77v74—TH 17 95
EAZTH 133 & 12 18 4 ETILT4—TH 1 % 32
ER_TH 134 % 1 49 1 R—TH 14 % 1
ER_TH 134 & 2 49 13 R—TH 14 %2
EAZTH 135 & 12 109 vrIvT4—TH 1 % 183
EAZTH 136 & 12 108 vrIvT4—TH 1 % 182
EAZTH 137 & 12 107 vrIvT4—TH 1 % 181
SH_TH 138 & 78 7 W_TH 15 & 7
2R _TH 155 % 2 R
EZR_ZTH 156 7% 2 (ER
ER-TH 157 % 2 THI
ERZTH 158 7% 2 THI
EA-TH 159 % THI
EA-TH 160 % THI
EA-TH 161 % THI
EA-TH 162 % THI
ER-TH 163 7% 2 THI
ERZTH 164 7% 2 THI
ERZTH 165 7% 2 THI
ERZTH 166 7 2 THR
ERAZTH 167 7 2 THR
ERZTH 168 7 2 THR
EATH 169 7 THR
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EZA_-TH 170 & THIR
EA_-TH 171 & THIR
EA_-TH 172 & THIR
EA_-TH 173 & THIR
ER-TH 174 %& THIR
EZA_TH 175 %& THIR
ER-TH 176 & THIR
EZA_TH 177 %& THIR
ER-TH 178 %& THIR
ER-TH 179 %& TH IR
ZA_TH 180 & THIR
ZA_TH 181 & THIR
ZA_TH 182 %& THIR
ZA-TH 183 %& THIR
EATH 184 & THI
E%_TH 5% 1 37 11 R—TH 20 % 22
EFTH 6 %1 12 154 v7Iv74—TH 1 % 146
EF T TH 6 %2 12 158 v7Iv74—TH 1 % 150
EF T TH 7% 12 150 v7Iv74—TH 1 % 248
E%TH 8 # 10 THIR
E%TH 8 11 THIR
EF - TH 21 & 1 12 149 | 79y 74— TH 1 % 242
E%_TH 21 % 3 12 149 2| ¥7Iv54—TH 1 7 243
E%TH 22 %1 12 149 3| ¥7Iv54—TH 1 7 244
EHTTH 22 %3 12 149 4 vrovr4—TH 1 % 245
EHTTH 23 & 1 12 149 5| 773 74—TH 1 % 246
E%TH 23 % 3 12 149 6| 77 v74—TH 1 7 247
E8TH 24 % 50 3 R—TH 25 %5
E8TH 25 % 1 18 9 v7rIv T4~ TH 10 &7
E8TH 25 % 2 18 11 v7rIv T4~ TH 10 % 10
EHTTH 26 & 12 148 v7Iv74—TH 1 % 241
E8TH 27 % 43 1 R—TH 16 & 1
EHTTH 28 & 12 147 | 79y 74— TH 1 % 239
E%TH 29 & 1 43 9 R—TH 16 % 10
ZETH 29 % 2 43 2 R—TH 16 % 2
EHTH 30 & 12 146 v77 7 4—TH 1 % 238
ZETH 31 & 43 3 R—TH 16 % 3
EZ8 T TH 32 % 14 6 vrIv 74 TH 13%6
EHTH 33 % 12 101 | ©79v74—TH 1 % 170
EHTH 34 % 1 17 3 v77v7 4 TH 9% 9
EHTH 34 %2 17 8 v77v 74 TH 9%3
EHTH 34 %3 17 9 v77v 74 TH 9 #F 4
EHTH 35 & 17 4 v77v 74 TH 9%5>5
EZ8 T TH 36 & 18 6 vrIv 74 TH 10 %6
Z8TH 37 % 14 4 v7rIv 74 _TH 13 % 4
EZEHTH 38 & 12 145 | 793 74—TH 1 % 236
EZEHTH 39 % 12 144 | 793 74—TH 1 % 234
Z8TH 40 % 18 5 v7rIv 74 _TH 10 % 5
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E%TH 41 % 1 18 4 Y774 TH 10 #F 4
E%TH 41 % 2 18 12 v7Iv 74 TH 10 % 12
E%TH 42 % 99 3 W=TH 3%&2
E%TH 43 % 1 9 6 Y774 TH 11 %6 aBt
E% TH 43 % 2 9 6 v7Iv 74 TH 11 %6 & Pf
E%TH 44 F 31 9 vT7Iv T4 TH 6 %9
E% TH 45 & 1 48 2 R—TH 13 %2
E%TH 45 % 2 31 17 vT7Iv T4 TH 6 % 10
E% TH 45 % 3 48 10 R—TH 13 %& 12
E% TH 46 & 38 5 R—TH 19 %6
E¥FTH 47 % 1 12 143 | ©¥79v74—TH 1 % 231
E%TH 47 % 2 12 143 2| ¥7IV54—TH 1 % 232
E%TH 47 %3 12 143 3| ¥7Iv54—TH 1 % 233
E%TH 48 & 12 144 2| ¥7IV54—TH 1 % 235
EFTH 49 % 12 145 2| 7793 74—TH 1 2% 237
EFTH 50 & 12 142 v7Iv74—TH 1 % 230
E%_TH 51 & 14 5 v7Iv 74 TH 13 %5
EF T TH 52 & 1 12 141 | ©¥79v74—TH 1 7% 228
EF T TH 52 %& 2 12 141 2| 773 74—TH 1 % 229
EF - TH 53 & 12 140 v7Iv74—TH 1 2% 227
E%TH 54 & 98 12 R=TH 6 % 11
E%_TH 55 % 1 32 1 R—TH 23 % 1
E%TH 55 % 2 38 7 R—TH 19 %8
E%TH 55 % 3 32 9 R—TH 23 % 2
E8TH 55 & 4 32 10 R—TH 23 % 13
E8TH 55 & 5 32 11 R—TH 23 % 14
EHTTH 56 & 52 11 v7Iv 74 TH 7311
EHTH 57 & 12 139 | 79y 74— TH 1 % 225
E8TH 58 & 1 100 5 RZTH 2%6 & pf
E% TH 58 & 2 100 5 RZ=TH 2%6 A
EBF_TH 59 & 1 39 3 R—TH 18 % 3 A
EBF_TH 59 & 2 39 3 R—TH 18 % 3 A
E8TH 60 % 1 100 6 RBZTH 2% 7 & pf
E% TH 60 & 2 100 6 RBZTH 2% 7 A
EHTH 61 & 12 138 v77 7 4—TH 1 % 224
ZETH 62 % 1 49 6 R—TH 14 % 13
ZETH 62 % 2 49 14 R—TH 14 % 14
EHTH 63 & 12 40 | ©79v74—TH 1% 70
EHTH 64 % 12 137 v77 7 4—TH 1 % 223
EHTH 65 & 12 147 2| 793 74—TH 1 % 240
EHTH 66 & 12 136 v77 7 4—TH 1 % 222
EHTH 67 F 1 12 135 v77 7 4—TH 1 % 221
ZETH 67 % 2 43 7 R—TH 16 &7
ZETH 68 % 1 43 6 R—TH 16 % 6
EZETH 68 % 2 43 10 R—TH 16 %9
EZETH 69 % 1 33 13 R—TH 22 %19
EZETH 69 % 2 43 5 R—TH 16 %5
EZEHTH 70 % 12 139 2| 79 74—TH 1 % 226
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E%TH 71 % 28 3 R—TH 7%6
E%TH 72 % 43 4 R—TH 16 %& 4
E%TH 73 & 52 6 vT7Iv T4 TH 7%6
E%TH 74 % 1 52 12 v7Iv 74 TH 1% 12 | &OF
E%TH 74 & 2 52 12 vT7Iv T4 TH 1% 12 | AbF
E%TH 75 & 100 10 R=TH 2% 11
E%TH 76 & 52 7 vT7Iv T4 TH 7TE&T
E%TH S 12 134 vT7Iv 74— TH 1 % 220
E%TH 78 & 52 8 vT7Iv T4 TH 7%8
E%TH 79 & 52 9 vT7Iv T4 TH 7%9
E%TH 80 & 12 133 1| v79v54—TH 1 % 218
E%TH 81 & 12 133 2| ¥7IV54—TH 1% 219
E%TH 82 & 53 6 vT7Iv T4 TH 8 %6
E%TH 83 & 53 8 vT7Iv T4 TH 8 %8
E%_TH 84 & 53 9 v7Iv T4 TH 8 %9
E%TH 90 % 2 THI
E%TH 91 %2 (ER
E%TH 92 % 2 THIR
E%TH 93 % 2 THI
E%TH 94 & THIR
E%TH 95 & THIR
E%TH 96 & THIR
E%TH 97 % 2 THIR
E%TH 98 % 2 THIR
E%TH 99 % 2 MER
E%_TH 100 & ME
E%TH 101 & ER
E%_TH 102 & ME
E%_TH 103 & ME
E%TH 104 & ER
E%TH 105 & MER
E%_TH 106 & ME
E%TH 107 & MER
E%_TH 108 & ME
EHTH 109 & (ER
E®HTH 110 & (ER
E%-TH 111 % (ER
s 1% 1 36 8 R—TH 21 F 11 | APk
s 1%2 36 8 R—TH 21 F 11 | APk
I 2 % 15 3 vrIv 74 TH 12 % 8 & pf
= 3 & 33 11 R—TH 22 % 16
= 4 F 24 1 2 R—TH 1%&2
I 5% 1 15 21 vrIv 74 TH 12 % 22
I 5% 2 15 3 vrIv 74 TH 12 % 8 & pf
R 6 & 33 12 R—TH 22 %17
R 7% 106 23 R=TH 8 %5 53
R 7% 105 12 R=TH 9F 12 | 4
R 8 & 79 11 RTTH 14 % 4
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s 9% 1 105 1 W®=TH 9% 1 H0F

s 9 %2 26 2 R—TH 5% 3 a0F

s 9 %3 26 2 R—TH 5% 3 a0F

s 9 %4 105 1 W®=TH 9% 1 a0F

s 9 %5 105 1 RZ=TH 9% 1 & Pf

B 9 %6 26 9 R—TH 5% 2 Warl

R 9 %6 105 13 R=TH 9& 13 | 4y

R 10 & 26 1 R—TH 5% 1

B 11 %1 24 3 5 R—TH 3&E 1

B 11 %2 24 3 3 R—TH 3%9

R 12 & 24 3 2 R—TH 3%S8

5 13 %1 97 14 WRZ=TH 7%8 & Pf

R 13 % 2 24 3 7 R—TH 3&13 | yE

R 13 % 2 97 15 R=TH TET Wal

s 13 % 3 24 3 6 R—TH 3F&F12 | AfF

5 14 %1 97 14 RZ=TH 7%8 & Pf

5 14 % 2 97 14 RZ=TH 7%8 & hf

s 14 % 3 24 3 6 R—TH 3% 12 | AfF

s 14 % 4 24 3 6 R—TH 3F&F 12 | AfF

= 15 & 12 27 | ©79v74—TH 1 % 46

= 16 & 12 27 2| 773 74—TH 1 347

= 17 & 12 27 3| 7 74—TH 1 % 48

= 18 & 12 28 v7Iv74—TH 1 % 49

= 19 & 12 29 v7Iv74—TH 1 % 50

5 20 % 1 106 20 RBZTH 8 %4 & pf

5 20 % 2 106 20 RBZTH 8 %4 & pf

s 24 % 23 2 ET7IV T4 TR 4 %2

= 25 & 23 1 v7Iv 74 TH 431

s 26 & 37 10 R—TH 20 & 14 | ABF

= 27 % 1 33 4 R—TH 22 % 5

s 27 % 2 37 10 R—TH 20 & 14 | ABF

= 28 F 1 33 5 R—TH 22 7% 6

s 28 % 2 31 15 v7rIv T4 TH 6 &7 & pf

s 28 % 3 31 15 v7Iv 74~ TH 6 &7 & pf

= 29 % 1 33 3 R—TH 22 % 3

= 29 % 2 33 18 R—TH 22 % 4

I 30 % 53 1 vrIv 74 TH 8 % 1 & pf

I 31 % 53 1 vrIv 74 TH 8 % 1 & pf

= 32 % 1 34 1 R—TH 11 % 12

= 32 % 2 34 7 R—TH 11 %1

= 32 % 3 34 8 R—TH 11 %2

= 33 % 12 30 v77 7 4—TH 1 % 51

= 34 % 98 16 R=TH 6 %3

= 35 & 34 3 R—TH 11 3% 4 53

R 35 % 34 14 R—TH 11 %13 | 48

= 35 & 23 3 v7Iv 74T H 473 53

R 36 % 1 34 5 R—TH 11 %6

R 36 % 2 34 9 R—TH 11 %7
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s 36 % 3 34 10 R—TH 11 %8

= 36 & 4 34 11 R—TH 11%9 Gk

s 36 %5 34 4 R—TH 11 %5

s 37 & 1 59 23 WoTH 34 7 14

B 37 &2 34 12 R—TH 11 % 10

5 37 &3 34 11 R—TH 11%9 & Pf

B 37T & A 59 24 WOTH 34 % 15

= 37 %5 59 25 RTTH 34 %16 | ABF

B 38 & 1 40 2 R—TH 12 %1

B 38 %2 40 7 R—TH 12 %2

B 38 % 3 40 11 R—TH 12 % 10

= 38 & 4 40 12 R—TH 12 % 11 | &fF

B 39 & 1 40 3 R—TH 12 % 4

B 39 %2 40 8 R—TH 12 %3

= 39 % 3 40 9 R—TH 12 %8

= 39 % 4 40 10 R—TH 12%9

= 39 %5 40 12 R—TH 12%11 | A6

B 40 & 42 2 R—TH 17 % 2 & pf

s 41 % 1 42 2 R—TH 17 % 2 & pf

= 41 % 2 42 6 R—TH 17 %6

= 42 #F 1 39 5 R—TH 18 &5

= 42 % 2 39 11 R—TH 18 % 6

= 42 % 3 39 12 R—TH 18 & 7

B 42 3% 4 39 13 R—TH 18 & 12

B 42 %5 39 14 R—TH 18 % 13

= 43 F 1 39 6 R—TH 18 % 8

s 43 3% 2 59 22 W_TH 34 % 13

s 43 %3 59 30 W_TH 34 & 24 | ABE

s 43 3% 4 59 31 WZTH 34 & 25 | ABE

s 43 %5 59 32 WZTH 34 % 26

B 43 % 6 39 15 R—TH 18 & 11

B 44 % 21 4 v7rIv T4 TH 3&F 4

B 45 & 12 31 v7rIvT4—TH 1 % 52

B 46 & 99 14 RBZTH 3F 13

= 47 % 12 32 vrIv74—TH 1 7% 55

= 48 % 12 32 v7rIv74—TH 1 % 56

= 49 % 12 128 vrIv74—TH 1 % 213

= 50 % 1 42 5 R—TH 17 %5

= 50 % 2 21 6 vrIv 74~ TH 3%6 & pf

= 51 % 1 42 4 R—TH 17 % 4

= 51 % 2 21 6 vrIv 74 TH 3%6 & pf

= 52 % 12 33 vrIv74—TH 1 % 57

= 53 % 12 33 vrIv74—TH 1 % 58

= 54 % 21 2 vrIv 74 TH 3%E?2

R 55 % 1 12 34 ETrIvT4— T B 1 % 59

R 55 2 12 34 2| €755 4—TH 1 % 60

R 56 % 12 36 ETrIvT4— T B 1 7% 63

) 57 & 61 4 WZTH 32 %5
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s 58 #& 1 61 5 WoTH 32%6 H0F

s 58 % 2 61 5 WoTH 32%6 a0F

s 59 & 39 1 R—TH 18 % 1

s 60 & 39 2 R—TH 18 % 2

B 61 7 1 12 37 1| 79y 54—TH 1 % 64

B 61 7% 2 12 37 2| ¥7Iv54—TH 1 % 65

B 61 % 3 12 37 3| ¥7Iv54—TH 1 % 66

5 62 % 1 42 1 R—TH 17 %1 & hf

5 62 % 2 42 1 R—TH 17 %1 & hf

B 63 & 101 4 RZ=TH 1 &4

B 64 & 12 38 1| v79v54—TH 1 % 67

B 65 & 12 38 2| ¥7IV54—TH 1 % 68

R 66 & 61 3 W-TH 32 %3 4y

B 66 & 15 2 vT7Iv T4 TH 12%5 Wal

= 67 % 1 48 1 R—TH 13 % 1

B 67 % 2 48 13 R—TH 13 % 14

B 67 % 3 48 14 R—TH 13 % 13

B 68 % 1 9 4 v7Iv 74 TH 11 %4 & pf

B 68 7% 2 9 4 v7Iv 74 TH 11 %4 & pf

s 69 % 1 9 5 7oL 74 TR 11 %5

= 69 % 2 48 7 R—TH 13 % 11

B 70 7 1 31 10 v7Iv 74 TH 6 F 11 | BpF

B 70 % 2 31 10 v7Iv 74 TH 6 F 11 | BpF

s 71 % 1 63 1 WZTH 29 % 1

s 71 &2 65 3 W_TH 28 % 6

B 72 & 12 39 v7rIvT4—TH 1 % 69

B 73 & 12 40 3| 795 4—TH 1 %72

s 74 % 1 65 8 W_TH 28 % 8

s 74 % 2 65 2 WZTH 28 % 3

s 74 %3 65 9 WZTH 28 % 4

= 74 F 4 65 10 ROTH 28 % 5

B 75 & 28 5 R—TH 7T%9

= 76 % 1 48 4 R—TH 13 % 4

= 76 % 4 48 8 R—TH 13 %9

= 76 % 5 48 9 R—TH 13 % 10

= 76 % 6 48 12 R—TH 13 %5

= 77 %1 48 3 R—TH 13 %3

= 77 % 2 48 15 R—TH 13 % 15

= 77 %3 48 16 R—TH 13 % 16

= 77 % 4 48 17 R—TH 13 %& 17

= 78 % 49 4 R—TH 14 %9

= 79 % 49 3 R—TH 14 % 8

= 80 % 30 12 vrIv 74 TH 5% 12

= 81 % 30 13 vrIv 74 TH 5% 13

R 82 & 30 11 ET7TIvT4 TR 5% 11

) 83 % 1 63 5 WZTH 29 % 3

) 83 7% 2 63 8 WZTH 29 % 9

R 84 & 30 5 ET7TIvT4 TR 5%5
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s 85 % 1 40 4 R—TH 12%6

s 85 % 2 40 5 R—TH 12%5

s 85 % 3 40 6 R—TH 12 %7

s 86 & 30 6 7774 TH 5%6

R 87 & 27 1 R—TH 6% 1

5 88 % 1 21 8 vT7Iv T4 TH 3%8 & Pf

5 88 % 2 21 8 vT7Iv T4 TH 3%8 & Pf

5 89 % 1 48 6 R—TH 13 %7 & hf

5 89 % 2 48 6 R—TH 13 %7 & hf

B 89 % 3 48 11 R—TH 13 %38

B 90 & 12 41 vT7Iv 74— TH 1 & 73

R 91 & 60 5 R_TH 33%&5 Gox

B 91 & 30 14 vT7Iv T4 TH 5% 14 | El

s 92 & 30 7 E7I5v 54T H 5% 7

s 93 % 1 65 1 WZTH 28 & 1

= 93 % 2 65 11 ROTH 28 & 2

s 94 % 1 15 10 ET7Iv T4 TR 12 % 16

s 94 3% 2 63 7 WZTH 29 % 13

s 95 % 1 99 19 RZ=TH 3&F I8 | B

5 95 % 2 99 19 RZ=TH 3&F I8 | A

s 95 % 3 65 6 WZTH 28 % 10

s 95 3% 4 65 5 WZTH 28 % 9

s 96 % 1 63 6 WZTH 29 % 4

s 96 % 2 63 9 WZTH 29 % 5

= 96 % 3 63 10 ROTH 29 % 6

= 96 % 4 63 11 ROTH 29 & 7

= 96 % 5 63 12 ROTH 29 % 8

B 97 & 12 42 v7rIv74—TH 1 % 74

B 98 % 1 98 5 RZTH 6 & 4 & pf

B 98 % 2 98 5 RZ=TH 6 & 4 & pf

s 99 & 60 6 W_TH 33 %6

s 100 & 60 7 W_TH 33 &7

B 101 % 1 12 43 v7rIvT4—TH 1 %75

= 101 & 2 59 12 ROTH 34 % 35

s 102 & 59 1 WZTH 34 & 1

= 103 % 1 36 10 R—TH 21 % 10

s 103 & 2 72 1 WZTH 22 % 1

s 103 % 3 69 1 WZTH 24 % 1

= 103 % 4 72 11 RTTH 22 % 14

= 104 % 1 27 2 R—TH 6 % 2 53

= 104 % 1 29 5 R—TH 8 & T 53

= 104 3% 2 33 17 R—TH 22 %9

= 105 % 29 4 R—TH 8 %6

= 106 % 29 3 R—TH 8 %5

= 107 % 1 100 15 R=TH 2 % 16

= 107 & 2 100 14 R=TH 2% 15

= 108 & 100 16 R=TH 2 % 17

= 109 % 1 26 3 R—TH 5% 4

-20/45 -




B 8T & 5 &

AL B — A X - i R Wk 27455 1 H BIAE
A BT 4 & HIX B Ml oy o4 HoE _—

L] A % BE | BE | BE | B By 4 %

s 109 % 2 26 6 R—TH 5%5

s 109 % 3 26 7 R—TH 5%6

s 109 #& 4 26 8 R—TH 5% 7

s 110 & 12 44 77y 74— TH 1 % 76

B 111 %& 1 59 2 WOTH 34 % 2

B 111 % 2 59 11 WOTH 34 7 33

= 111 % 3 59 19 RTTH 34 % 34 | ABF

B 111 % 4 59 16 WoTH 34 %3

B 111 %5 59 17 WoTH 34 % 4

B 111 % 6 59 18 WoTH 34 %5

= 111 & 7 59 19 RTTH 34 % 34 | ABF

B 112 %& 1 59 9 WoTH 34 7 31

B 112 % 2 59 4 WoTH 34 %8

B 112 % 3 59 14 WoTH 34 %9

= 112 % 4 59 21 ROTH 34 % 30

s 113 & 1 59 3 WZTH 34 %6

= 113 & 2 59 13 ROTH 34 F T Sy

s 113 & 2 59 10 WZTH 34 %32 | 45

= 113 % 3 50 4 R—TH 25 % 6

B 114 % 12 45 1| v79v54—TH 1 & 77

B 115 %& 12 45 2| ¥7Iv54—TH 1 %178

B 116 %& 100 8 RZ=TH 2%9

= 117 % 98 7 R=TH 6 % 6

B 118 %& 98 6 RZ=TH 6 %5

s 119 & 81 2 W_TH 31 &2

= 120 % 1 79 13 ROTH 14 %6

B 120 & 2 12 46 vrIvT4—TH 1 % 82

s 121 & 52 2 75 74T A 7%2

s 122 % 1 81 1 WZTH 31 & 1

= 122 & 2 81 11 ROTH 31 % 15

= 122 % 3 81 15 ROTH 31 % 14

s 123 % 1 59 5 W_TH 34 & 11

B 123 % 2 105 4 RBZTH 9 %4

s 123 & 3 59 6 W_TH 34 % 12

= 123 % 4 59 33 RTTH 34 % 27

5 124 % 1 106 2 R=TH 8 % 1 & pf

5 124 % 2 106 2 R=TH 8 % 1 & pf

5 125 % 1 106 2 R=TH 8 % 1 & pf

= 125 & 2 106 21 R=TH 8 & 2

s 126 % 1 59 7 WZTH 34 % 17

s 126 & 2 59 8 WZTH 34 % 18

= 126 % 3 59 15 RTTH 34 % 19

s 126 % 4 59 25 WZTH 34 & 16 | BB

= 126 % 5 59 26 RTTH 34 % 20

) 126 % 6 59 27 WZTH 34 F21 | BB

) 127 % 1 59 27 WZTH 34 F21 | BB

) 127 % 2 59 28 WZTH 34 F22 | AU

) 127 % 3 59 28 WZTH 34 F22 | AU
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s 127 % 4 59 29 WROTH 34 & 23 | ABE

s 127 &5 59 29 WROTH 34 & 23 | ABE

s 127 % 6 59 30 WROTH 34 F24 | ABE

s 127 &7 59 31 WROTH 34 & 25 | AP

B 128 % 82 1 RZTH 1 &1 & Pf

B 129 %& 82 1 RZTH 1 &1 & Pf

s 130 & 82 2 W_TH 1 %2

B 131 & 1 82 6 WoTH 1 &7

B 131 % 2 82 7 WoTH 1 %8

s 132 & 1 12 35 1| 7535 4—TH 1 %61

B 132 % 2 83 1 WoTH 6 % 11

B 132 % 3 83 7 WoTH 6 %1

B 133 %& 99 27 WRZ=TH 3% 3

B 134 % 1 83 2 WoTH 6 % 2

= 134 7% 2 83 8 ROTH 6 % 3

= 134 % 3 83 9 ROTH 6 % 8

= 134 % 4 83 11 ROTH 6 % 10

s 134 &5 83 10 WZTH 6 %9

= 135 % 1 79 14 ROTH 14 F&7 & pf

= 135 & 2 79 14 ROTH 14 F& 7 & pf

= 136 % 1 84 6 ROTH 2% 10

B 136 & 2 84 5 ®COTH 2%9 & pf

= 136 % 3 84 4 ROTH 2 %8

B 136 & 4 84 5 ®COTH 2%9 & pf

= 137 & 98 8 R=TH 6 &7

s 138 & 81 9 W_TH 31 % 12

B 139 % 1 105 2 RBZTH 9 %2 & pf

B 139 % 2 105 2 RBZTH 9 %2 & pf

B 139 % 3 105 2 RZTH 9 %2 & pf

B 139 & 4 105 2 RZ=TH 9 %2 & pf

B 140 %& 92 2 R_TH 9 %2 53 E

s 140 & 21 14 7574 T A 3% 14 | HE

= 141 % 12 47 1| ©77v74—TH 1 7% 83

s 142 & 12 47 2| €75 54—TH 1 % 84

s 143 & 12 48 1| ©75v54—T8H 1 % 87

s 144 % 12 48 2| €793 54—TH 1 % 88

s 145 & 12 49 1| ©75v54—T8H 1% 90

s 146 % 1 21 13 v7I5e 74 TH 3% 13

= 146 & 2 87 13 RTTH 7% 19

s 147 & 21 12 v7I5 74 TH 3% 12

= 148 % 1 87 10 RTTH 7% 13

= 148 & 2 87 9 RTTH 7% 12

= 149 & 87 11 RTTH 7% 14

= 150 % 1 87 6 RTTH 7%&9

) 150 & 2 87 5 WZTH 7%8

) 150 % 3 87 7 WZTH 7% 10

) 151 & 12 48 3| 795 4—TH 1 % 89

i) 152 % 1 83 6 R_OTH 6 %7 s
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s 152 % 2 83 6 ®OTH 6 &7 H0F

s 152 % 3 83 3 ®OTH 6 % 4

s 153 & 12 50 v7Iv 74— TH 1 % 92

s 154 %& 87 12 ®OTH 7% 16

B 155 %& 12 51 v7ov74—TH 1 % 93

B 156 & 80 8 ®OTH 20 %9

B 157 %& 80 9 ®OTH 20 7 10

B 158 & 80 10 ®OTH 20 & 11

B 159 %& 12 49 2| 795 4—TH 1 %91

B 160 & 20 12 vT7Iv T4 TH 2 % 13

B 161 & 1 80 5 WoTH 20 % 5

B 161 % 4 80 14 WoTH 20 % 6

B 161 % 5 80 16 WoTH 20 % 15

B 161 % 6 80 15 WoTH 20 7% 14

b 162 & 80 4 WZTH 20 % 4

B 163 %& 12 52 vT7rIvT4—TH 1 % 94

= 164 % 1 27 5 R—TH 6 %5

s 164 & 2 94 1 WZTH 11 %1

B 165 %& 27 6 R—TH 6 % 6

s 166 & 1 80 1 WZTH 20 & 1 A6

s 166 & 2 80 1 WZTH 20 & 1 A6

= 167 % 1 86 1 ROTH 5% 1

= 167 & 2 86 13 ROTH 5% 14

B 167 % 3 86 2 R®TOTH 5%2 & pf

= 167 % 4 86 11 ROTH 5% 12

= 167 % 5 86 10 ROTH 5% 11 | &

= 167 % 6 86 10 ROTH 5% 11 | &

= 167 & 7 86 9 ROTH 5% 10

= 167 % 8 86 2 ROTH 5% 2 At

= 167 & 9 86 5 ROTH 5% 6

= 167 % 10 86 17 ROTH 5% 19

= 167 & 11 86 16 ROTH 5% 18

= 167 & 12 86 15 ROTH 5% 17

= 167 % 13 86 6 ROTH 5% 17

= 167 % 14 86 8 RTTH 5%9

= 168 % 1 85 14 RTTH 3 &4

= 168 & 2 85 8 RTTH 3&9

= 168 % 3 85 6 RTTH 3&T

= 168 7 4 15 9 vrIv 74~ TH 12 % 15 | &pF

= 168 % 5 15 9 vrIv 74 TH 12 % 15 | &pF

= 168 % 6 85 3 RTTH 3% 3 A

= 168 & 7 85 3 RTTH 3% 3 A

= 168 % 8 85 11 RTTH 3& 12 | &6t

= 168 % 9 85 9 RTTH 3% 10

R 168 & 10 15 15 ET7TIvT4 TR 12 % 14

= 169 % 1 85 13 RTTH 3% 14

iR 169 % 2 85 11 WZTH 3F12 | &bF

i) 169 % 3 85 3 R_OTH 3FE3 s
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s 169 #& 4 85 1 WoTH 3F1

s 170 % 1 67 3 WoTH 26 % 5

s 170 3% 2 67 10 WoTH 26 7 13

s 171 & 100 17 W®=TH 2 % 18

B 172 %& 30 9 vT7Iv T4 TH 5%9

B 173 % 1 68 8 WOTH 25 %9

B 173 % 2 68 1 WOTH 25 % 1

B 173 % 3 68 6 WoTH 25 % 2

B 173 % 4 68 7 WoTH 25 & 7

B 173 %5 68 9 WoTH 25 % 8

B 175 %& 1 99 16 WRZ=TH 3&F 15 | Ak

B 175 % 2 99 16 WRZ=TH 3&F 15 | Ak

B 176 % 1 99 15 WRZ=TH 3&F 14 | BvF

B 176 & 2 99 15 WRZ=TH 3&F 14 | BvF

= 177 % 1 98 15 R=TH 6 & 14

s 177 %& 2 77 5 WZTH 17 %5

B 178 %& 1 98 13 ®=TH 6 % 12

B 178 % 2 98 14 RZ=TH 6 % 13

B 179 %& 12 53 vT7rIvT4—TH 1 % 96

s 180 & 69 4 WZTH 24 % 4

s 181 & 1 67 2 WZTH 26 % 4 s

s 181 & 2 67 2 WZTH 26 % 4 s

s 181 &3 67 9 WZTH 26 & 14 | ABF

s 181 & 4 67 9 WZTH 26 & 14 | ABF

= 182 % 1 66 13 ROTH 27 % 11

= 182 & 2 66 12 ROTH 27 % 10

s 182 & 3 66 6 W_TH 21 %9

B 183 %& 99 20 RBZTH 3% 19

= 184 % 1 44 3 R—TH 15 %5

B 184 % 2 44 16 R—TH 15 % 19

B 184 % 3 44 17 R—TH 15 & 20

= 184 7% 4 44 4 R—TH 15 %6 At

s 185 & 1 67 5 W_TH 26 % 8

= 185 & 2 67 11 ROTH 26 & 9

= 185 % 3 67 12 RTTH 26 & 10

= 185 & 4 67 13 RTTH 26 % 11

s 186 & 66 5 WZTH 27T %8

= 187 % 12 55 vrIv74—TH 1% 99

s 188 & 69 2 WZTH 24 % 2

s 189 & 69 3 WZTH 24 % 3

= 190 % 12 56 vrIv74—TH 1 % 100

s 191 % 1 77 2 WZTH 17 % 2 s

s 191 & 2 77 2 WZTH 17 % 2 s

s 192 & 75 1 WZTH 18 % 1

R 193 %& 52 1 ET7TIvT4 TR 7% 1 EExiis

i) 194 % 1 77 6 R_OTH 17 %38 & pf

i) 194 % 2 77 6 R_OTH 17 %8 & pf

R 194 % 3 52 1 ET7TIvT4 TR 7% 1 EExiis
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s 194 % 4 77 8 WoTH 17 %7

s 195 & 12 56 2| €795 4—TH 1 & 101

s 196 & 1 12 57 1| 7935 4—TH 1 & 102

s 196 & 2 12 57 2| €795 4—TH 1 % 103

s 197 & 1 19 14 vE7rIv 54T H 1 & 17

B 197 % 2 69 6 WOTH 24 % 6

B 197 % 3 69 5 WOTH 24 %5

B 197 % 4 69 7 WoTH 24 %K 7

s 198 & 19 13 E7rIv 54T H 1 % 16

s 199 & 12 58 1| 7535 4—TH 1 % 104

B 200 % 30 8 vT7Iv T4 TH 5% 8

B 201 % 1 56 1 WoTH 16 % 28

B 201 % 2 56 23 WoTH 16 % 1

B 201 % 3 56 24 WoTH 16 % 2

= 201 7 4 56 25 ROTH 16 & 27

s 202 % 12 59 v7Iv 74— TH 1 & 107

= 203 & 53 7 v7Iv7 4 TH 8 &K T

s 204 % 19 11 7oL 74 TR 1 % 14

s 205 & 19 12 7574 TR 1 % 15

s 206 & 60 3 WZTH 33 %3

s 207 & 12 60 v7Iv74—TH 1 % 108

B 208 & 100 18 RZ=TH 2% 19

s 209 & 78 1 WZTH 15 % 1

s 210 & 78 2 WZTH 15 % 2

= 211 % 1 78 3 W_TH 15 % 3

= 211 & 2 78 12 ROTH 15 % 13

= 212 % 1 78 4 ROTH 15 % 4 ey

= 212 & 2 78 4 ROTH 15 % 4 & pf

s 213 % 1 12 54 2| €75 54—TH 1% 98

B 213 & 2 44 4 R—TH 15 % 6 & pf

B 213 %3 44 15 R—TH 15 % 18

= 214 % 1 75 3 W_TH 18 % 3

= 214 % 2 75 11 W_TH 18 & 7

= 214 %3 75 4 W_TH 18 % 4

I 214 % 4 75 9 WZTH 18 % 5

= 214 % 5 75 10 RTTH 18 % 6 A

I 214 % 6 75 2 WZTH 18 % 2

= 214 F 7 75 10 RTTH 18 % 6 A

= 215 % 1 77 1 RTTH 17 %1 A

= 215 % 2 78 11 RTTH 15 %12 | A6

= 215 % 3 78 11 RTTH 15 %12 | A6

= 215 % 4 77 1 RTTH 17 %1 A

= 216 % 1 75 12 RTTH 18 & 12

I 216 % 2 57 2 WZTH 36 & 2

= 216 % 3 75 13 RTTH 18 & 13

= 216 % 4 75 14 RTTH 18 % 14

= 216 % 5 75 15 RTTH 18 %15 | ABf

= 216 % 6 75 15 RTTH 18 %15 | ABf
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s 216 % 7 75 16 WoTH 18 % 16

s 216 % 8 75 10 WoTH 18 %6 a0F

s 217 & 100 9 W®=TH 2 % 10

s 218 % 1 75 5 WoTH 18 %8

B 218 % 2 75 6 WOTH 18 %9

B 218 % 3 75 7 WOTH 18 % 10

B 218 % 4 75 8 WOTH 18 & 11

B 219 % 1 12 61 v7ov74—TH 1 % 109

B 219 % 2 12 61 v7ov74—TH 1 % 110

= 220 % 89 2 RTTH 13 % 2 & hf

B 221 % 1 12 61 v7ov74—TH 1 & 111

B 221 % 2 97 13 W=TH 7% 10

B 222 % 1 98 11 WRZ=TH 6 &F 10 | BpF

B 222 % 2 98 11 WRZ=TH 6 &F 10 | BpF

s 223 % 1 67 4 WZTH 26 % 6

= 223 & 2 67 16 ROTH 26 & 7

= 223 % 3 67 17 ROTH 26 % 12

= 223 7 4 67 18 ROTH 26 % 18

B 224 % 12 76 vT7rIvT4—TH 1% 113

B 225 % 12 62 v7Iv74—TH 1 & 112

s 226 % 78 8 WZTH 15 % 8

s 227 % 78 5 WZTH 15 %5

s 228 % 1 13 2 7oL 74 TR 15 % 2

s 228 % 2 13 11 ET7IV T4 TR 15 % 3 &0f

s 228 % 3 13 12 ETIV T4 TR 15 & 17

s 228 % 4 13 13 ET7Iv T4 TR 15 % 18

s 229 % 1 78 6 W_TH 15 % 6 A0

s 229 & 2 78 6 W_TH 15 % 6 A0

s 230 % 1 74 2 WZTH 19 % 14

s 230 % 3 74 1 WZTH 19 % 1

= 230 7 4 74 14 ROTH 19 % 13

= 230 % 5 74 10 ROTH 19 % 11

= 230 % 6 74 11 ROTH 19 & 12

B 231 & 1 12 152 v7rIv74—TH 1 % 144

s 231 % 2 79 9 WZTH 14 % 10

s 232 % 1 79 10 WZTH 14 %11 | &bt

s 232 % 2 79 10 WZTH 14 %11 | &bt

= 232 % 3 79 15 RTTH 14 & 12

s 233 % 1 74 9 WZTH 19 % 10

s 233 & 2 74 8 WZTH 19 %9

= 233 % 3 78 13 RTTH 15 % 10

s 233 % 4 74 6 WZTH 19 % 6

s 233 & 5 74 5 WZTH 19 %5

s 234 % 79 1 WZTH 14 %1

) 235 % 79 2 WZTH 14 % 2

) 236 % 74 3 WZTH 19 % 2 4y

) 236 % 80 7 WZTH 20 % 8 4y

i) 237 % 1 73 6 R_OTH 21 %9 & pf
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s 237 % 2 74 4 WoTH 19 % 4

s 237 % 3 74 13 WoTH 19 %3

s 238 % 1 73 7 WoTH 21 % 10

s 238 % 2 73 6 WoTH 21 %9 a0F

B 239 % 1 98 10 W=TH 6 %9

B 239 % 2 98 9 RZ=TH 6 % 8 & Pf

B 239 % 3 98 9 RZ=TH 6 % 8 & Pf

B 240 % 100 13 RZ=TH 2% 14

B 241 % 12 63 v7Iv 74— TH 1% 114

B 242 % 12 64 v7ov74—TH 1 % 115

B 243 % 12 64 vT7Iv 74— TH 1% 116

B 244 F 80 6 WoTH 20 & 7

B 245 % 12 65 vT7Iv 74— TH 1% 117

B 246 % 1 97 4 W=TH 7% 4

B 246 % 2 97 12 R=TH 7%5

B 247 % 1 97 3 ®=TH 7%3

B 247 % 2 97 2 RZ=TH 7T%2

= 248 & 82 5 ROTH 1%&6

= 249 & 82 4 ROTH 1%&5

B 250 % 1 100 1 R=TH 2% 1 & pf

B 250 % 2 100 1 RZ=TH 2% 1 & pf

B 250 % 3 100 1 RZ=TH 2% 1 & pf

s 251 % 1 77 3 WZTH 17 % 3

= 251 7% 2 84 1 ROTH 2% 1

s 251 % 3 77 7 W_TH 17 % 6

= 252 % 1 84 2 ROTH 2% 2

= 252 7% 2 84 8 ROTH 2% 3

= 252 % 3 84 9 ROTH 2% 4

= 252 7 4 84 10 ROTH 2%&5

B 253 % 12 66 v7rIvT4—TH 1 % 118

s 254 % 94 8 W_TH 11 %5

s 255 & 94 6 W_TH 11 %3

B 256 % 1 28 6 R—TH 7%8

s 256 & 2 94 7 W_TH 11 % 4

= 257 % 1 87 1 RTTH 7T&1

= 257 2 31 14 v7rIv 74 TH 6 % 15

= 257 % 3 28 8 R—TH 7TEF1

= 258 & 87 19 RTTH T&T

= 259 % 87 14 RTTH 7% 20

s 260 % 1 89 1 WZTH 13% 1 s

= 260 % 2 92 3 RTTH 9% 3

s 261 % 1 89 1 WZTH 13% 1 s

= 261 % 2 12 47 vrIv74—TH 1 % 85

s 262 % 1 89 1 WZTH 13% 1 s

) 262 % 2 12 47 4| ©75v74—TH 1 % 86

) 263 % 1 91 2 WZTH 12 % 3

) 263 % 2 93 1 WZTH 10 % 1

) 263 % 3 91 1 WZTH 12 %1
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s 263 % 4 91 3 WoTH 12 %2
s 264 & 93 4 WoTH 10 % 4
s 265 & 21 9 vT7Iv T4 TH 3%F9
s 266 % 1 21 10 vT7Iv T4 TH 3&F 10 | Ak
i 266 % 2 21 10 vE7rIv 54T H 3FE 10 | OBF
B 267 % 1 89 1 WOTH 13 %1 & Pf
B 267 % 2 89 1 WOTH 13 %1 & Pf
B 268 % 2 THIR
B 271 % THIR
B 272 % 2 TH IR
B 273 % THIR
B 274 % THIR
B 275 % THIR
B 276 % THIR
B 277 % THI
B 278 % THI
B 279 % THIR
B 280 % THIR
B 281 % THI
B 282 % THIR
B 283 % THIR
B 284 % THIR
B 285 % THIR
B 286 % THIR
B 287 % MER
B 288 % MER
B 289 % ER
B 290 % ER
B 291 % ER
B 292 % ER
B 293 % MER
B 294 % MER
B 295 % MER
B 296 % ER
= 297 % (ER
= 298 % (ER
= 299 % (ER
= 300 % (ER
= 301 & (ER
= 302 % (ER
= 303 & (ER
= 304 % (ER
= 305 & (ER
= 306 & (ER
R 307 % THI
R 308 & THI
R 309 & THI
R 310 & THI
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s 311 & THIR
s 312 & THIR
s 313 & THIR
s 316 & THIR
B 317 & 2 THIR
B 318 & THIR
B 321 % 2 THIR
B 322 % THIR
B 323 %& THIR
B 325 & TH IR
B 326 % 1 THIR
B 327 % THIR
B 329 % THIR
B 330 & THIR
B 331 % 2 THI
B 334 % THI
B 335 & THIR
B 336 & THIR
B 337 & THI
B 338 & THIR
B 339 % 2 THIR
B 340 % 1 THIR
B 340 % 2 THIR
B 341 % THIR
B 342 % MER
B 343 % MER
B 344 % ER
B 345 % ER
B 346 % 1 ER
B 346 % 2 ER
B 347 % MER
B 348 % MER
B 349 % MER
B 350 & ER
= 351 & (ER
= 352 % (ER
= 353 & (ER
= 354 % (ER
= 355 & (ER
= 356 & (ER
= 357 & (ER
= 358 & (ER
= 359 % (ER
= 360 % (ER
R 361 F THI
R 362 F THI
R 363 & THI
R 364 F THI
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s 365 & THIR
s 366 & THIR
s 367 & 1 THIR
s 367 % 2 THIR
B 368 & THIR
B 369 % THIR
B 370 %& THIR
B 371 & THIR
B 372 % THIR
B 373 & TH IR
B 374 % THIR
B 375 % 2 THIR
B 376 & THIR
B 378 & THIR
B 379 % THI
B 380 & THI
B 382 % 2 (ER
B 383 & THIR
B 384 % THI
ENF_TH 25 % 1 33 6 R—TH 22 %7 & pf
EJIFE_TH 25 % 2 33 8 R—TH 22 % 10
ENF_TH 26 % 1 33 6 R—TH 22 %7 & pf
EJFE_TH 26 % 2 33 15 R—TH 22 % 12
EJFE_TH 26 % 3 33 14 R—TH 22 % 11
ENIFE_TH 26 % 4 33 16 R—TH 22 % 13
EINF_TH 27 % 21 11 75 74T A 3% 11
EINF_TH 28 & 21 15 75 74T A 3% 15
EIF_TH 29 & 21 7 v7Iv 74 TH 3F/T
EIF_TH 30 & 19 2 v77v 74 TH 1% 3
ENIFE_TH 31 % 1 33 19 R—TH 22 % 18
ENIFE_TH 31 %2 33 2 R—TH 22 % 2
EIF_TH 32 & 21 5 v7Iv 74 TH 3%&S5
ENIFE_TH 33 & 1 33 1 R—TH 22 % 1
ENIFE_TH 33 % 2 33 20 R—TH 22 % 20
ENNFE_TH 34 % 12 5 v7Iv 74— T 8B 1 &7
ENNFE_TH 35 & 12 6 v7Iv 74— T 8B 1 %8
ENNFE_TH 36 & 12 7 v7Iv 74— T 8B 1%9
EINF_TH 37 & 20 15 ETIvT4 TR 2 % 16
ENNFE_TH 38 & 54 3 v7Iv 74— T 8B 2% 3 53
EINF-TH 38 & 20 14 ETIvT4 TR 2% 15 | HE
ENFE_TH 39 & 1 36 7 R—TH 21 %8
ENFE_TH 39 % 2 33 9 R—TH 22 % 14
ENFE_TH 39 %3 36 5 R—TH 21 %6
EINF_TH 40 % 1 20 8 ETIvT4 TR 2 % 10
EINF_TH 40 7 2 20 18 ET7TIvT4 TR 2% 11
EINF_TH 41 % 20 7 ET7TIvT4 TR 2%9
EJNFZTH 42 % 32 8 R—TH 23 %9
EINF_TH 43 % 20 16 ET7TIvT4 TR 2 %8
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EINF_-TH 44 20 6 Y774 TH 2% T
ENF_TH 45 & 42 3 R—TH 17 %3 Wal
EIFE - TH 45 % 20 10 BTV 74T H 2 %6 53
EINF_-TH 46 20 5 Y774 TH 2 %5
EINF_-TH 134 % 1 28 2 W—TH 7%3
EINF_-TH 134 7% 2 28 9 W—TH 7%5
EJNFZTH 134 % 3 28 10 R—TH 7% 13
EJNFZTH 134 % 4 28 11 R—TH 7% 14
EJNFZTH 134 %5 28 12 R—TH 7%&A4
EJNFZTH 135 & 12 9 vT7Iv 74— TH 1% 12
EJNFTH 136 & 19 10 vT7Iv T4 TH 1% 13
EJF_TH 137 & 12 11 vrovr4—TH 1% 15
ENF_TH 138 % 1 12 12 | ©79v74—TH 1 % 16
ENF_TH 138 % 2 12 12 2| 793 74—TH 1% 17
EJNF_TH 139 % 1 12 12 3| 7 74—TH 1% 18
ENF_TH 139 % 2 12 12 4 vrovr4—TH 1% 19
EJIFE_TH 140 & 36 2 R—TH 21 % 2
EJF_TH 141 & 19 4 v77v7 4 TH 1%&5
EJNF-TH 142 % 1 100 26 R=TH 2 % 29
ENF-TH 142 % 2 9 8 v7Iv T4 TH 11 %8 A
ENF-TH 142 % 3 9 8 v7Iv 74 TH 11 %8 A
EJIFE_TH 143 & 1 100 25 R=TH 2% 28 | &0
EJFE_TH 143 % 2 100 25 R=TH 2% 28 | &0
EJNF_TH 144 % 1 19 1 v77v7 4 TH 1%&2
EJIF_TH 144 & 2 19 17 v7I5v74 " TH 1 %1
EINF_TH 144 & 3 74 12 ®CTH 19 &7
EINF-TH 156 & ER
EINF-TH 158 % 2 ER
EINF-TH 159 % 2 ER
EINF-TH 160 % 2 ER
EINF-TH 161 & MER
EINF-TH 189 % 2 MER
EINF-TH 197 & MER
EINF-TH 198 % 2 ER
EINF_TH 199 7% 2 (ER
RKep—TH 191 % 2 TR
RKep—TH 192 % 1 5 7 Kep—TH 502 % 8
RKep—TH 193 % 1 5 13 Kep—TH 502 & 5 & pf
RKep—TH 193 % 2 5 13 Kep—TH 502 & 5 & pf
RKep—TH 193 % 3 37 9 R—TH 20 % 13
RKep—TH 194 %1 5 4 Kep—TH 502 #F 4
RKep—TH 195 % 1 6 7 Kep—TH 503 & 6
RKep—TH 196 & 1 44 14 R—TH 15 % 24
Kp—T H 197 & 1 19 7 v77v7 4 TH 1 %8
Kep—TH 197 % 3 6 11 Kep—TH 503 & 9
Kigp—TH 198 % 1 5 8 Kep—TH 502 % 9 s
Kigp—TH 198 % 3 5 8 Kep—TH 502 % 9 s
RKep—TH 198 % 4 TR
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RKep—TH 198 % 5 106 5 W=TH 8 &7
Keg—TH 198 % 6 5 11 Kip—TH 502 % 10
Keg—TH 199 % 1 18 8 E75 54 TH 10 & 11
RKep—TH 199 % 2 THIR
Kp—TH 200 % 1 12 1 | ©¥79v74—TH 1% 1
RKep—TH 200 % 2 IR
Kig—TH 201 % 1 5 9 Kpp—TH 502 % 13
Kp—TH 201 7 2 5 12 RKp—TH 502 & 12 | AOF
Kp—TH 201 %& 3 5 10 RKp—TH 502 % 11
Kp—TH 201 7 4 5 12 RKp—TH 502 & 12 | AOF
Keg—TH 202 % 1 6 9 Kip—T H 503 % 7 & Pf
Keg—TH 202 % 2 6 9 Kip—T H 503 % 7 & Pf
RKep—TH 203 F 1 68 4 ROTH 25 &5
Kp—TH 203 %& 2 5 6 RKp—TH 502 & 7
RKep—TH 204 % 1 14 9 v7Iv 74T H 13 %F 12
Keg—TH 204 % 2 14 2 v7Iv T4 TH 13 % 2 & Pf
Keg—TH 204 % 3 14 2 v7Iv 74 TH 13 % 2 & hf
RKep—TH 205 % 5 3 RKep—TH 502 % 3
RKep—TH 206 % 6 1 RKep—TH 503 % 11
Keg—TH 207 % 1 5 2 Kig—TH 502 % 2 & pf
Keg—TH 207 % 2 5 2 Kig—TH 502 % 2 & pf
Kep—TH 208 % 1 4 2 RKep—TH 501 % 2
Keg—TH 208 % 2 4 3 Kig—TH 501 % 3 & pf
Keg—TH 208 % 4 4 3 Kig—TH 501 % 3 & pf
RKep—TH 208 & 5 4 17 RKep—TH 501 7 15
RKep—TH 209 % 1 4 10 RKep—TH 501 7 14
Keh—TH 209 % 3 19 18 75 74T A 1% 18
RKep—TH 209 % 4 4 19 RKep—TH 501 7 19
Kep—TH 210 & 1 5 1 RKep—TH 502 % 1
Kig—TH 213 & 2 MER
Kep—TH 214 F 2 ER
RKep—TH 215 F 2 ER
RKep—TH 216 & 1 4 11 RKep—TH 501 7 16
RKep—TH 216 % 2 4 12 RKep—TH 501 % 17
Kep—T H 216 % 3 106 17 R=TH 8% 20 | ABf
Kep—T H 216 % 4 106 17 R=TH 8% 20 | ABf
Kep—T H 216 & 5 106 16 R=TH 8 & 19
Kep—T H 217 F 1 106 17 R=TH 8% 20 | ABf
Kep—T H 217 % 2 106 17 R=TH 8% 20 | ABf
Kep—T H 218 & 1 2 1 Kep—TH 500 % 1
Ki—T H 218 % 2 2 3 Kip—TH 500 % 3 & pf
FKip—T A 218 % 3 15 12 75 74T H 12 % 20
Ki—T H 218 % 4 2 3 Kip—TH 500 % 3 & pf
Ki—T H 218 % 6 2 3 Kip—TH 500 % 3 & pf
Kigp—TH 218 % 7 2 3 Kep—TH 500 % 3 s
Kep—TH 218 & 9 2 7 Kep—TH 500 % 6
Kep—TH 218 % 10 2 8 Kep—TH 500 % 4
Kigp—TH 219 % 1 2 6 Kep—TH 500 % 5 s
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RKep—TH 219 % 2 106 22 W=TH 8 % 18
RKep—TH 219 %3 2 6 RKep—TH 500 % 5 Gk
RKep—TH 220 F 1 106 13 W=TH 8 F 17
RKep—TH 220 % 2 106 6 W=TH 8 % 16
RKep—TH 220 % 3 19 3 v7Iv 74 TH 1 %4 & Pf
RKep—TH 220 % 4 19 3 v7Iv 74 TH 1 %4 & Pf
RKep—TH 221 % 1 19 3 v7Iv 74 TH 1 %4 & Pf
RKep—TH 221 % 2 19 3 v7Iv 74 TH 1 %4 & hf
Keg—TH 221 % 3 12 2 v7Iv 74— TH 1 %3
Kp—TH 222 & 12 3 | ¥79v74—TH 1% 4
Kp—TH 223 & 12 3 2| 79 74—TH 1 %5
Keg—TH 224 % 1 4 5 Kip—T H 501 % 5 & Pf
Keg—TH 224 % 2 4 9 G ! 501 % 11
Kp—TH 224 7% 3 4 14 RKp—TH 501 & 12 | AOF
Keg—TH 224 % 4 4 5 Kig—TH 501 % 5 & Pf
Keg—TH 224 %5 4 15 Kig—TH 501 % 13 | AF
Keg—TH 224 % 6 4 14 Kig—TH 501 & 12 | AOF
RKep—TH 224 F 7 4 16 RKep—TH 501 & 6
RKep—TH 225 F 1 4 8 RKep—TH 501 7 10
Kep—TH 225 % 2 4 6 RKep—TH 501 & 7
Kep—TH 226 % 6 10 RKep—TH 503 % 8
Kep—TH 227 % 12 4 v7Iv 74— T B 176
Kep—TH 228 F 1 6 2 RKep—TH 503 & 1
Kep—TH 228 % 2 6 3 RKep—TH 503 # 2
RKep—TH 229 F 1 54 14 v7Iv74—TH 2% 14
RKep—TH 229 7 2 ER
RKep—TH 230 F 1 ER
RKep—TH 230 F 2 ER
Kep—TH 231 & 1 4 15 RKep—TH 501 & 13 | &bF
Kep—TH 231 F 2 NER
Kep—TH 315 F 2 ER
RKep—TH 316 & ER
RKep—TH 317 F 2 ER
RKep—TH 324 F 2 8 1 RKep—TH 611 & & pf
RKep—TH 325 % 2 8 1 Kep—TH 611 & & pf
RKep—TH 326 F 2 8 1 Kep—TH 611 & & pf
RKep—TH 327 &/ 8 1 Kep—TH 611 & & pf
RKep—TH 328 & 8 1 Kep—TH 611 & & pf
RKep—TH 329 & 8 1 Kep—TH 611 & & pf
RKep—TH 330 & (ER
RKep—TH 331 & (ER
RKep—TH 332 & (ER
RKep—TH 333 F (ER
RKep—TH 334 F (ER
RKep—TH 335 & TH I
Kep—TH 336 & SR
Kep—TH 337 & SR
RKep—TH 338 F 2 TR
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RKep—TH 339 % 2 THIR

RKep—TH 341 F 1 THIR

RKep—TH 342 K 2 THIR

RKep—TH 343 F 2 THIR

RKep—TH 344 F 2 THIR

R~ TH 1% 9 1 v7Iv 74T H 11 %&1

K~ TH 2 ¥ 9 2 vT7Iv T4 TH 11 %2

K~ TH 3F 1 37 6 R—TH 20 &7

K~ TH 3F2 37 15 R—TH 20 & 17

K~ TH 33 37 22 R—TH 20 % 8

R~ TH 4 3% 1 15 1 v7rov T4 TH 12 %1

R~ TH 432 15 25 v7rIv T4 TH 12 % 23

K~ TH 4 %3 15 22 vT7Iv T4 TH 12 % 2

K~ TH 4 %4 15 23 vT7Iv T4 TH 12 %3

K —TH 4 %5 15 24 v7Iv T4 TH 12 % 4 & Pf

K~ TH 4 7% 6 15 26 v7Iv 74T H 12 % 24

K _TH 4 %7 15 27 7774 TH 12 % 25

K~ TH 4 7% 8 15 28 v7Iv 74T H 12 7% 26

K —TH 4%9 15 24 v7Iv 74 TH 12 % 4 & pf

K~ TH 5% 19 5 v7Iv 74T H 176

K~ TH 6 % 21 1 v7Iv 74T H 3F 1L

K~ TH T %& 19 6 v7Iv 74T H 1 &7

K~ TH 8 & 12 1 2| €779V 7 4—TH 172

K —TH 9 & 106 8 RETH 8 &9

Ko~ TH 10 & 1 14 3 v7I5v74 " TH 13 %3

K —TH 10 % 2 37 2 R—TH 20 % 2

RK#_ZTH 10 % 3 37 3 ®R—TH 20 % 3 & pf

RK#_ZTH 11 % 37 1 R—TH 20 & 1

K _TH 12 % 14 1 v77v 74 TH 13%F 1

K —TH 13%1 100 5 RETH 276 A

K TH 16 % 1 51 5 R—TH 247 6 & pf

K TH 16 % 2 51 5 R—TH 247 6 & pf

K —TH 17 % 1 51 6 R—TH 24 T/ T

K _TH 18 %& 9 3 v7Iv 74 TH 11 7% 3

K~ TH 19 %& 31 8 v77v 74 TH 6 7% 8

K~ TH 20 % 1 51 4 R—TH 24 T 4

K~ TH 20 % 2 51 8 R—TH 24 % 5

K~ TH 20 % 3 51 9 R—TH 24 7% 8

K~ TH 20 % 4 51 10 R—TH 24 %9

KT H 21 % 100 2 R=TH 2 %2

KT H 22 % 18 3 v7Iv7 4 TH 10 %3

KT H 23 % 1 100 22 R=TH 2% 23 | A

KT H 23 7% 2 100 22 R=TH 2% 23 | A

K~ TH 24 % 1 32 5 R—TH 23 % 6

K _TH 24 % 2 32 12 R—TH 23 & 10

K _TH 25 % 1 37 8 R—TH 20 & 10

K _TH 25 % 2 37 12 R—TH 20 % 11

K _TH 25 % 3 37 13 R—TH 20 & 15
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K~ TH 25 & 4 37 14 R—TH 20 % 16

K —TH 26 & 12 13 v7Iv 74— TH 1% 20

K~ TH 271 & 51 1 R—TH 24 F 1

K —TH 28 % 1 12 14 I| 79y 54—TH 1 % 21

K~ TH 28 % 2 12 14 2| ¥7Iv54—TH 1% 22

K~ TH 29 & 38 6 R—TH 19 % 7

R~ TH 30 %& 17 2 7o T4 TH 9% 2

R~ TH 31 % 12 83 | ©¥79v74—TH 1 % 135

K~ TH 32 F 1 19 8 v7Iv 74 TH 1 %9 & hf

K~ TH 32 %2 19 8 v7Iv 74 TH 1 %9 & hf

K~ TH 33 & 99 23 R=TH 3% 22

K~ TH 34 & 99 22 R=TH 3 & 21

K~ TH 3B &1 37 4 R—TH 20 % 4

K~ TH 35 % 2 37 16 R—TH 20 &5

K —TH 35 % 3 37 17 R—TH 20 % 18

K —TH 35 & 4 37 18 R—TH 20 % 19

K —TH 36 % 1 37 19 R—TH 20 % 20

K —TH 36 & 2 37 20 R—TH 20 % 21

RK—TH 36 &3 37 3 R—TH 20 7 3 A

K~ TH 37 & 1 12 15 | ©79v54—TH 1723

K~ TH 37T &2 12 15 2| €79V 74—TH 1724

K —TH 38 & 105 9 RETH 9%F 11 | &fF

K —TH 39 & 1 21 3 v7Iv 74 TH 3% 3 & pf

K —TH 39 %2 21 3 v7Iv 74 TH 3% 3 & pf

K —TH 39 %3 21 3 v7rIv T4 TH 3% 3 & pf

K _TH 40 & 12 16 v7Iv74—TH 1 % 26

K _TH 41 F 1 12 17 | 79y 74— TH 1 %27

K _TH 41 % 2 12 17 2| 73 74—TH 1 % 28

K —TH 42 %1 14 7 v7rIv T4~ TH 13 % 7 & pf

K —TH 42 % 2 14 7 v7rIv T4~ TH 13 %7 & pf

K —TH 42 %3 14 13 v7Iv T4~ TH 13%&11 | &bt

Ko~ TH 42 3% 4 14 11 v7rIv T4 TH 13 %8

Ko " TH 42 %5 14 12 v7rIv T4 TH 13 % 10

K —TH 42 % 6 14 13 v7Iv 74~ TH 13%11 | &bt

K~ TH 43 % 1 44 2 R—TH 15 % 4

KT H 43 3% 2 99 29 R=TH 3 % 25

K T H 44 % 1 13 7 vrIv 74 TH 15 %8

K T H 44 7 2 13 15 vrIv 74 TH 15 & 11

K T H 44 7% 3 13 8 vrIv 74~ TH 15 %9

K T H 44 3 4 13 14 v7I5 74 TH 15 & 10 | &

K T H 44 % 5 13 14 v7I5e 74 TH 15 & 10 | &

K T H 44 7% 6 13 16 v7I5e 74 TH 15 & 12 | &

K T H 45 % 1 13 17 vrIv 74 TH 15 % 13

K T H 45 7% 2 13 18 vrIv 74 TH 15 & 14

K —_TH 45 7% 3 13 19 v7Iv 74 TH 15 & 15

Ko " TH 45 & 4 38 3 R—TH 19 % 3 s

K TH 45 % 5 13 16 ET7TIvT4 TR 15 %12 | &bF

K —_TH 46 F 14 8 v7Iv 74 TH 133%9
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Ko~ TH 47 1 12 18 I| 79y 54—TH 1% 29

K~ TH 47 % 2 12 18 2| 795 4—TH 1 % 30

K~ TH 47 % 3 12 18 3| ¥7I9vT4—TH 1 % 31

K~ TH 48 & 100 4 W=TH 2%5

K ~TH 50 7 1 17 1 vT7Iv T4 TH 9& 10 | AfF

K _TH 50 & 2 17 10 vT7Iv T4 TH 9% 1 A

K _TH 50 & 3 17 10 vT7Iv T4 TH 9% 1 A

K ~TH 50 7 4 17 1 vT7Iv T4 TH 9%& 10 | AfF

K —TH 51 % 1 15 11 v7Iv 74 TH 12 %17 | &F

K —TH 51 & 2 15 11 v7Iv 74 TH 12 %17 | &F

R~ TH 52 % 12 19 vrov 74— TH 1% 33

K~ TH 53 & 100 19 R=TH 2 7% 20

R~ TH 54 % 54 4 vrovr4—TH 2 %4

K~ TH 55 & 100 20 R=TH 2 %21

K ZTH 56 % 1 37 7 ®R—TH 20 %9 & Pf

K ZTH 56 7 2 37 7 R—TH 20 %9 & Pf

Ko~ TH 57 % 1 15 18 v7Iv 74 TH 12 % 19

Keh T H 57 & 2 15 17 v7Iv 74 TH 12 % 18

Keh T H 57 % 3 15 16 v7Iv 74 TH 12 %& 12

Ko~ TH 57 % 4 15 7 v7Iv T4 TH 12 %& 11

K _TH 58 ¥ 2 2 Kep—TH 500 % 2 Sy

K _TH 58 % 15 6 Yo 74 TH 12%& 10 | 5%

K~ TH 59 & 18 2 v7Iv 74T H 10 % 2

K~ TH 60 & 18 1 v7Iv 74T H 10 & 1

Ko~ TH 61 % 1 19 9 v7I5v74 " TH 1% 10

K~ TH 61 % 2 19 19 v7I5v74 " TH 1% 19

K~ TH 61 % 3 19 20 v7I5v74 " TH 1% 20

K~ TH 62 % 1 19 15 v7I5v74 " TH 1% 11

Ko~ TH 62 % 2 48 5 R—TH 13 %6 53 E

KHE_TH 62 % 2 19 16 v77v 74 TH 1% 12 | 4%

K _TH 62 % 2 9 11 vrov 74 TH 11 % 11 4y

K~ TH 63 % 1 12 20 1| v75v54—TH 1 7% 34

K _TH 63 % 2 12 20 2| 73 74—TH 1% 35

K —TH 63 % 3 12 20 3| 795 4—TH 17 36

Ko _—TH 63 & 4 12 20 4 vrovr4—TH 1 % 37

FKrh T H 64 % 1 61 9 RCOTH 32 % 4

FKrr T H 64 % 2 61 12 RCOTH 32 % 12

K~ TH 65 % 1 15 8 v7Iv 74 TH 12 %13 | &

K~ TH 65 & 2 15 8 v7Iv 74T H 12 % 13 | &

K~ TH 65 % 3 15 8 v7Iv 74T H 12 %13 | &

K~ TH 65 % 4 15 8 v7Iv 74 TH 12 %13 | &

K _—TH 66 & 1 12 21 | ©79v74—TH 1 % 38

K _—TH 66 & 2 12 21 2| 793 74—TH 1% 39

R TH 67 % 1 32 6 R—TH 23F/F T A

Ko " TH 67 % 2 32 6 R—TH 23 & 7 s

K _TH 68 % 1 49 9 R—TH 14 %7

K _TH 68 % 2 49 10 R—TH 14 %6

K _TH 68 % 3 49 11 R—TH 14 %5
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K~ TH 68 & 4 49 12 R—TH 14 % 4

K —TH 69 % 12 22 v7Iv 74— TH 1 % 40

K —TH 70 & 12 159 v7Iv 74— TH 1 % 151

K~ TH 1% 1 51 7 R—TH 24 & 10

R~ TH 71 %2 31 1 7o T4 TH 6 % 1

R~ TH 2% 31 2 7o T4 TH 6 % 2

R~ TH 3% 31 3 7o T4 TH 6 % 3

K~ TH 74 % 61 2 ROTH 32 %2

K~ TH 75 & 99 21 R=TH 3% 20

R~ TH 76 & 31 5 vrov T4 TH 6 %5

K~ TH 7% 105 8 R=TH 9 7% 10

K~ TH 78 & 105 3 R=TH 9%3

R~ TH 79 % 1 12 10 vrovr4—TH 1% 13

R~ TH 79 % 2 12 10 2| 793 74—TH 1% 14

K~ TH 80 & 31 11 v7Iv 74T H 6 7 12

Ko~ TH 81 % 1 30 4 v7rIv 74 TH 5% 4

K~ TH 81 % 2 30 16 v7Iv 74T H 5 % 16

K~ TH 82 % 54 11 v7Iv74—TH 2% 11 | oHl

K~ TH 82 % 55 16 v7Iv74—TH 3F16 | oEl

K~ TH 83 & 55 10 v7rIv 74— T B 3% 10

K —TH 84 & 32 2 R—TH 23 % 3

K~ TH 85 % 1 31 12 v7Iv 74T H 6 % 13

K _TH 85 7 2 105 9 R=TH 9% 11 & pf

K~ TH 86 & 31 4 v7Iv 74T H 6 7 4

K _TH 87 % 12 23 v7Iv74—TH 1% 41

K —TH 88 & 30 3 v7rIv T4 TH 5% 3

K —TH 89 & 30 2 v7Iv 74~ TH 5% 2

Ko~ TH 90 % 1 30 1 v7I5v74 " TH 5% 1

K —TH 90 % 2 30 15 v7Iv 74T H 5% 15 | 25|

K —TH 90 % 2 9 10 v7Iv 74T H 11 & 10 | 4|

K —TH 91 & 12 24 v7rIv74—TH 1 7 42

K —TH 92 % 1 38 1 R—TH 19 % 1

K —TH 92 % 2 38 8 R—TH 19 & 12

K _TH 93 % 12 15 3| 7 74—TH 1% 25

K~ TH 94 % 30 10 v77v 74 TH 57 10

K~ TH 95 % 52 13 v77 74 TH 7313

K~ TH 96 % 52 5 v77v7 4 TH 735

K _—TH 97 & 1 52 4 v77v 74 TH 74

K~ TH 97 % 2 38 2 R—TH 19 % 2

K~ TH 98 % 1 32 3 R—TH 23 % 4

R TH 98 % 2 32 14 R—TH 23F 11 | APF

K~ TH 98 % 3 32 13 R—TH 23 %5

R TH 98 & 4 32 14 R—TH 23F 11 | APF

K~ TH 98 & 5 32 15 R—TH 23 & 12

K —_TH 99 % 31 13 v7Iv 74 TH 6 7% 6

Ko " TH 100 % 1 38 3 R—TH 19 % 3 s

K _TH 100 & 2 38 4 R—TH 19 % 4

K _TH 100 % 3 38 9 R—TH 19 %5
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K~ TH 100 % 4 38 10 R—TH 19 %9

K~ TH 100 % 5 38 11 R—TH 19 %& 10

K~ TH 100 % 6 38 12 R—TH 19 %& 11

K —TH 101 & 20 11 Y774 TH 2 % 12

K~ TH 102 & 12 25 v7Iv 74— TH 1% 43

K~ TH 103 & 1 20 1 v7Iv 74 TH 2% 1 & Pf

K~ TH 103 % 2 20 1 v7Iv 74 TH 2% 1 & Pf

K~ TH 104 & 1 20 2 v7Iv 74 TH 2%2 & hf

K~ TH 104 3% 2 20 2 v7Iv 74 TH 2%2 & hf

K~ TH 105 & 20 3 vT7Iv T4 TH 2%3

K~ TH 106 & 20 4 vT7Iv T4 TH 2 %4

K~ TH 107 % 1 50 2 R—TH 25 % 3

K~ TH 107 % 2 50 8 R—TH 25 & 4

K~ TH 107 % 3 50 9 R—TH 25 & 10

K —TH 107 % 4 50 10 R—TH 25 % 11

K —TH 108 % 1 50 1 R—TH 25 % 1

K~ TH 108 % 2 50 11 R—TH 25 % 2

K~ TH 108 % 3 50 12 R—TH 25 % 12

K~ TH 108 % 4 50 13 R—TH 25 % 13

K~ TH 109 % 1 12 26 | ©79v54—TH 1 7 44

K~ TH 109 % 2 12 26 2| €79V 74—TH 1 7 45

K#p—TH 110 % 1 40 1 R—TH 12 & 12

K~ TH 110 & 2 99 5 R=TH 3%F6

RKep~TH 111 % 1 4 7 RKep—TH 501 &9

K~ TH 111 % 2 99 4 ®=TH 3&ES

Ko~ TH 112 & 37 5 R—TH 20 % 6 53 E

Ko~ TH 112 & 51 2 R—TH 24 % 2 53 E

K _TH 113 % 1 15 20 v7I5v74 " TH 12 % 21

K _TH 113 % 2 12 8 | 79y 74— TH 1% 10

K _TH 113 % 3 15 19 v7I5v74 " TH 12 %9

K —TH 113 % 4 36 11 R—TH 21 &5

K~ TH 113 %5 86 19 ®CTH 5 % 16

K _TH 114 & 12 8 2| 73 74—TH 1% 11

K —TH 115 % 1 39 4 R—TH 18 & 4

K~ TH 115 % 2 39 8 R—TH 18 & 14

K~ TH 115 % 3 39 9 R—TH 18 & 15

K~ TH 116 & 53 2 v77v7 4 TH 8 #F 2

K~ TH 117 & 53 3 v77v 74 TH 8 %3

K~ TH 118 & 53 4 v77v7 4 TH 8 #F 4

K~ TH 119 % 1 53 11 v77v7 4 TH 8 #F 11

K _—TH 119 % 2 53 5 v77v 74 TH 8 %&b

K~ TH 120 & 12 155 v77 7 4—TH 1 % 147

FKrr T H 121 %& 106 15 R=TH 8 % 15

FKrr T H 122 % 1 106 14 R=TH 8 & 14 | A

K _TH 122 % 2 106 14 R=TH 8 & 14 | ABf

K~ TH 123 %& SR

K~ TH 124 % SR

K~ TH 125 %& SR
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K —TH 126 %& THIR
K —TH 127 %& THIR
K —TH 128 % THIR
K —TH 129 % THIR
K —TH 130 & THIR
K —TH 131 & THIR
K —TH 132 & THIR
K —TH 133 % 2 THIR
K —TH 134 % 2 THIR
K —TH 135 & TH IR
K —TH 136 & THIR
K —TH 137 & THIR
K —TH 138 & THIR
K —TH 139 & THIR
RKep~TH 140 %& MER
RKep~TH 141 & THI
Kep T H 142 %& ER
K~ TH 143 %& MER
RK—TH 144 & THI
RKep~TH 145 %& MER
RKep~TH 146 %& MER
RKep~TH 147 & THIR
RKep~TH 148 %& MER
RKep~TH 149 %& MER
K~ TH 150 %& ER
Ko~ TH 151 %& ER
Ko~ TH 152 %& ER
Ko~ TH 153 %& ER
Ko~ TH 154 %& NER
Ko~ TH 155 %& NER
Ko~ TH 156 % ER
K~ TH 157 %& ER
Ko~ TH 158 % ER
Ko~ TH 159 %& ER
RK# T H 160 & (ER
RK# T H 161 & (ER
KT H 162 & (ER
KT H 163 & (ER
RK# T H 164 & (ER
KT H 165 & (ER
KT H 166 & (ER
KT H 167 & (ER
KT H 168 & (ER
KT H 169 & (ER
K~ TH 170 %& SR
K~ TH 171 % SR
K~ TH 172 % SR
24 1 1 R—TH 1%&1 PR
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24 2 1 R—TH 2 & PREF M
24 3 10 R—TH 3&E 1 TR EE Hl
24 3 11 R—TH 3%&2 TR EE Hl
24 3 12 R—TH 3% T4 Hl
24 3 13 R—TH 3&EA4 TR EE He
24 3 14 R—TH 3%&S TR 4 Hl
24 3 15 R—TH 3%6 TR EE He
24 3 16 R—TH 3ET TR EE He
24 3 4 R—TH 3FE10 | fREH
24 3 R—TH 3FE 14 | REH
24 3 9 R—TH 3FE 15 | REH
25 R—TH 4 % ¥NES

27 3 R—TH 6 % 3 PREF M
27 4 R—TH 6 % 4 PREF M
28 1 R—TH T 1 PREE
28 14 R—TH 7% 2 PREE
28 4 R—TH TET TREE
28 13 R—TH 7THF12 | REH
28 15 R—TH 7HF 15 | REH
29 1 R—TH 8 & 1 TREE
29 6 R—TH 8 % 2 TREE
29 7 R—TH 8 %3 TREE
29 8 R—TH 8 & 4 TREE
29 9 R—TH 8 %8 PREE
29 10 R—TH 8 &9 REE
29 11 R—TH 8% 10 | fREH
29 12 R—TH 8 F 11 | fREH
29 13 R—TH 8 &/ 12 | fREH
35 2 1 R—TH 9%F 1 REE
35 2 2 R—TH 9 %2 REE
35 2 3 R—TH 9%3 REE
35 2 4 R—TH 9 F 4 REE
35 2 5 R—TH 9%&>5 REE
35 2 6 R—TH 9% 6 TREE
35 2 7 R—TH 9FT PR
35 2 8 R—TH 9%S8 PR
35 1 1 R—TH 10 % 1 PR
35 1 2 R—TH 10 7% 2 PR
35 1 3 R—TH 10 % 3 PR
35 1 4 R—TH 10 % 4 PR
35 1 5 R—TH 10 %5 PR
35 1 6 R—TH 10 %6 PR
35 1 7 R—TH 10 % 7 PR
35 1 8 R—TH 10 % 8 PR
34 13 R—TH 11 % 3 P i
34 2 R—TH 11 F 11 | REH
49 2 R—TH 14 %3 P i
44 1 R—TH 15 % 1 P i
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44 20 R—TH 15 7% 2 TR EE Hl
44 21 R—TH 15 7% 3 TR EE Hl
44 10 R—TH 15 %& 13 | fAeE
44 19 R—TH 15 % 14 | fAeE
43 8 R—TH 16 % 8 TR EE He
37 21 R—TH 20 F 12 | 1{REH
36 1 R—TH 21 &1 TR EE He
36 3 R—TH 21 %3 TR EE He
36 4 R—TH 21 % 4 TREE He
36 6 R—TH 21 &7 TREE Hl
36 12 R—TH 21 %9 TR EE He
33 7 R—TH 22 % 8 TR EE He
33 10 R—TH 22 % 15 | 1REH
32 7 R—TH 23 % 8 TR EE He
51 3 R—TH 24 % 3 PREE
R—TH 100 & RS
R—TH 101 & RS
R—TH 102 & syl
R—TH 103 & syl
R—TH 104 % JE R
R—TH 105 & JH
R—TH 106 % RS
R—TH 107 & JH
R—TH 108 & RS
R—TH 109 & JH
R—TH 110 %& JE
R—TH 111 % JE
R—TH 112 % JE
R—TH 113 %& JE
R—TH 114 % JE
R—TH 115 %& JE
R—TH 116 & JE
R—TH 117 % JE
R—TH 118 %& JE
R—TH 119 %& T
R—TH 120 % T
R—TH 121 % T
R—TH 122 % T
R—TH 123 % T
R—TH 124 % T
R—TH 125 % T
R—TH 126 % T
R—TH 127 % T
82 3 RTTH 173 PR
82 9 RTTH 174 P i
85 2 RTTH 3FE2 P i
85 5 RTTH 3F&ES P i
85 15 RTTH 3%E6 P i
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85 7 RTTH 3% TR EE Hl
85 10 RTTH 3FE1L | REH
85 12 RTTH 3FE13 | REH
88 RZTH 4 % Nk
86 18 ROTH 5%3 TR EE He
86 3 ROTH 5 %4 TR 4 Hl
86 7 ROTH 5%8 TR EE He
86 12 ROTH 5% 13 | fREH
86 14 ROTH 5% 15 | fREH
87 2 ROTH 7T%2 TREE Hl
87 16 ROTH 7%3 TR EE He
87 4 ROTH 7%6 TR EE He
87 8 ROTH THELL | REH
87 15 ROTH 7TH 1S | REH
87 17 ROTH 7THENT | REH
87 20 ROTH 7H 18 | REH
90 3 ROTH 8 & 1 TREE
90 1 ROTH 8 % 2 PREE
90 2 ROTH 8% 3 PREE
93 3 ROTH 10 % 3 TREE
94 11 ROTH 11 %11 | e
94 12 ROTH 11 %12 | A
79 3 ROTH 14 %3 TREE
78 10 ROTH 15 & 11 | fAeE
56 16 ROTH 16 & 23 | fREEH
74 7 ROTH 19 %8 REE
80 2 ROTH 20 % 2 TREE
80 17 ROTH 20 % 3 REE
80 12 ROTH 20 & 13 | {REH
80 3 ROTH 20 & 16 | {REH
80 13 ROTH 20 %/ 17 | 1REH
62 1 ROTH 30 &1 REE
62 2 ROTH 30 % 2 REE
62 3 ROTH 30 % 3 TREE
62 4 RTTH 30 F 4 PR
62 7 RTTH 30 %5 PR
62 8 RTTH 30 &6 PR
62 9 RTTH 30 &K 7 PR
62 10 RTTH 30 & 10 | fREH
62 11 RTTH 30 F 11 | fREH
62 12 RTTH 30 F 12 | fREH
62 13 RTTH 30 %/ 13 | fREH
59 20 RTTH 34 % 10 | fREH
59 34 RTTH 34 % 28 | fREH
59 35 RTTH 34 F29 | R
58 RTTH 35 % N
57 8 RTTH 36 &9 P i
R_OTH 100 % B
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B 8T & 5 &

SR A L — A X il X ERL2TAES A 1 HBILE
A BT 4 & HIX B Ml oy o4 HoE _—
L] A % BE | BE | BE | B By 4 &
WoTH 101 & Syl
WoTH 102 & AR
WoTH 103 & AR
WoTH 104 % AR
WOTH 105 & AR
WOTH 106 & AR
WOTH 107 & AR
WoTH 108 & JE R
WoTH 109 & JE R
WoTH 110 & JE R
WoTH 111 % JE R
WoTH 112 & JE R
WoTH 113 & JE R
WoTH 114 % JE R
®COTH 115 & JH
®COTH 116 & JH
®COTH 117 % JH
®COTH 118 & JH
®COTH 119 & JH
®COTH 120 & JH
®COTH 121 & JH
®COTH 122 % JH
®COTH 123 & JH
®COTH 124 % JH
®CTH 125 %& JE
®CTH 126 % JE
®CTH 127 % JE
®CTH 128 %& JE
®COTH 129 % JE
®COTH 130 %& JE
®CTH 131 %& JE
®CTH 132 % JE
®CTH 133 % JE
®CTH 134 % JE
RCOTH 135 % T
RCOTH 136 & T
101 2 R=TH 172 PR
101 3 R=TH 173 PR
100 31 R=TH 273 PR
100 24 R=TH 2 %27 | fREEH
99 26 R=TH 3F26 | fREEH
95 R=TH 4 % R
96 1 R=TH 5 % LREE Hi
98 1 R=TH 6 &1 PR
98 4 R=TH 6 7% 2 P i
97 1 R=TH 71 P i
97 5 R=TH 776 P i
97 6 R=TH ) P i
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B 8T & 5 &

SR A L — A X il X ERR2T4ES H 1 HEE
B AT £ 1 & HX (R BroET 4 M F @
mr 4 % BE | BE | BE | B By 4 %

106 3 R=TH 8 %3 TR EE Hl
106 4 R=TH 8 %6 TR EE Hl
105 11 R=TH 9%& T TR EE Hl
W®=TH 100 & AR

RZ=TH 101 & AR

RZ=TH 102 & AR

RZ=TH 103 & AR

RZ=TH 104 % JE R

W=TH 105 & JE R

RZ=TH 106 & JE R

W=TH 107 & JE R

WRZ=TH 108 & JE R

WRZ=TH 109 & JE R

WRZ=TH 110 & JE R

RZ=TH 111 % RS

RZ=TH 112 % RS

RZ=TH 113 & RS

RZ=TH 114 % RS

R=TH 115 & JH
107 1 R=TH 116 & TREE
RZ=TH 118 & JE R

R=TH 119 & Syl
4 1 RKep—TH 501 & 1 TREE
4 4 RKep—TH 501 % 4 PREE
4 13 RKep—TH 501 & 8 REE
4 18 RKep—TH 501 & 18 | {RegHh
5 5 Kep—TH 502 % 6 TREE
6 4 RKep—TH 503 % 3 REE
6 5 RKep—TH 503 % 4 REE
6 6 RKep—TH 503 % 5 REE
6 12 RKep—TH 503 & 10 | {REgHh

3 RKep—TH 504 F 1 N
7 1 Kep—TH 504 F 2 REE

1 RKep—TH 505 & R
Kep—TH 600 % T

Kep—TH 601 % T

Kep—TH 602 % T

Kep—TH 603 % T

Kep—TH 604 % T

Kep—TH 605 & T

Kep—TH 606 % T

Kep—TH 607 % T

Kep—TH 608 % T

Kep—TH 609 % T

Kep—TH 610 % E B
12 151 v77 7 4+—TH 1% 142 fREEH
12 160 v77 7 4+—TH 1 %143 | fREEH
v7rIv74—TH 100 % B
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B 8T & 5 &

SR A L — A X il X ERL2TAES A 1 HBILE
B AT £ 1 & HX (R BroET 4 M F W ow
mr 4 o F BE | BE | BE | B By 4 &

v7Iv 74— T H 101 & AR
v7Iv 74— TH 102 & AR
v7Iv 74— TH 103 & AR
v7Iv 74— TH 104 % AR
v7Iv 74— TH 105 & AR

20 17 7o T4 TH 2% 14 | rEEH

21 16 7o T4 TH 3&E 16 | PrifH

31 16 vrov T4 TH 6 % 14 | PrEGH

18 7 vrov T4 TH 10 %9 TREE He

9 9 v7Iv 74T H 11 %9 TREE Hl

16 v7Iv 74 TH 14 & N
vT7Iv T4 TH 100 & JE R

10 v7Iv 74 TH 101 % K

vT7Iv 74 TH 102 %

v 74 TH 103 &

v 74 TH 104 &

v 4TH 105 &

v 74 TH 106 &

v 74 TH 107 &

v 74 TH 108 &

v 74 TH 109 &

v 4 " TH 110 &

v 4TH 111 &

v 74 TH 112 &

ok | 1mé | fmé | [k | | ok | it | ot | ot | o | o |

v 74 2 TH 113 &

|05 50| 5|5 || R |R|R|R|R|R|R

v 74 TH 114 & JH &
v T4TH 115 & JH

v T4TH 116 #F JH
v T4 TH 117 & JH
v T4 TH 118 & JH
v 74 TH 119 F JH
v 74 2 TH 120 % JH
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